Dynamics: Problem Sheet 7 (of 8)

Systems of particles, rigid bodies.

1. Consider a system of particles with masses m; and position vectors ry(t), where I =
1,..., N labels the particles. Particle I is acted on by internal forces Fyz, due to particles
J # I, together with an external force F¢*'.

(a) Define the centre of mass G of the system of particles, and the total angular mo-
mentum L about G. Assuming that the internal forces satisfy the strong form of
Newton’s third law, using Newton’s laws of motion show that
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where 7% is the total external torque about G, which you should define.

(b) Suppose now that all the masses are equal, m; = m for all I = 1,..., N, and that
the external force on particle I is F¢* = —bry, for each I =1,..., N, where b > 0 is
a constant. Show that

L(t) = e /™L(0).

2. Consider a binary star system, with stars of mass mj, ma. Recall from section 7.3 of the
lectures that the position of each star in the centre of mass frame is
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where r(t) satisfies the equation of motion
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(a) Suppose that the orbit of each star in the centre of mass frame is circular, with
angular velocity 2. Show that
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where 71 and ro are the radii of the stars’ orbits.

(b) Now introduce a small planet into the system, with mass small enough that it does
not affect the orbits of the stars. Suppose also that the planet orbits the centre of
mass of the stars in a circle of radius R with the same angular velocity €2 as the stars,
so that the whole configuration is stationary in a rotating frame, with the stars and
planet colinear. By writing down the equation of motion of the planet, show that
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[There are three positive solutions to these equations for R, known as Lagrange points.
There are two other Lagrange points in which the planet is not colinear with the stars.]



3. (a) Show that the inertia tensor Z(%) of a uniform circular cylinder of length [, radius a
and mass M, about its centre of mass G, is
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Here we have taken the z direction along the axis of the cylinder. [Hint: Use cylin-
drical polar coordinates.]

(b) The cylinder rotates with angular velocity w about its axis. Show that the angular
momentum of the cylinder about its centre of mass is

Lo = (0,0,%M(L2w).

Please send comments and corrections to sparks@maths.ox.ac.uk.



